10

Zeile

Zeile
10
12
10
11
12

14

10
12

10
12

12

10

11

12

12

10

11
12

Kommentar
Nums= [2,6,5]
Schleife beginnt 0<3
Aufruf von createCall

Console
i incrementiert, 1<3
Aufruf von createCall

Console muuuhuuhu
i icrementieri auf 2
CreateCall

console
Increm. ; false

Kommentar
Parameter (Wert)definieren
Schleife 2>0 v/

Bed. nicht erfllt (false)

k decrem. 1>0 v
k==1 (true)

k decrem.0>0 X
Gibt zurick
Parameter definieren
Schleife 6>0

Nicht erfillt (false)

Schleife beginnt weil 5>0
false

Decrem.

Decrem.
true

Decrem. ; true
false

true

False 0=0

i : number

0+1=1

result : string

muhu

muuuhuuhu

muuuuhu

3=nums.lenght

start : string

“«

Ilm
0

»mMu

,muh”
,muhu”

,muuuh“
,muuuhu”

muuuhuu

muuuhuuh
,Muuuhuuhu

Length : number
2

6 (2.Zahlim Array)

k : number



14

10
12

10
12

10
12

10
12

10
11
12

14

Gibt zurick

True

false

true
false

true
False

true
false

true

True

false
Gibt zuriick

Muu

Muuu

Muuuu

muuuuh
muuuuhu



